£120 2BARYZFPUL T —RAVI FFZABBERA
BEYR29F558258 (K)
ABBHEEELT 20—

< D = (TomBlb)

1 2 3 4 5 | m=| 2 |IEm
1T 2H-BR (5307 0 2 @ 1 1/4 4
2 mR-BME(#sH ) @ OR OR 0 1/4 5
3 zg-wB (PR @ @ @ 2 | 3/4 2
4 g@-mA (L2 2 @ 1 1 1/4 3
s EB-BW (LR @ @ @ @ 4/4 1
d & (65mMUE)

AT OwD = | I8
1 P %08 +2 1
2 BIIl-K§ 3| 3
3 MiE-BO 1| 2

BT OwZD = | IBfi
4 BB-2R( B E ) 1
5 MO-mA (57T ) 8
6 ZIl-th Il (ZBLF 1) 2

([FEREER— Ak
Mos-ge (A ) —° o @ 2 —— WE-H O (Fz-FE) A2
B2 Il b Il (=807 3)—— @ EB-2H ( BE )BT

» O »H (60mULE)

AT OwD M= | 2 | I8
1 AE-BEE( B ) 2/2 1
2 ms-540 (P 0/2 3
3 R-BOW (LT 1/2 2

B Ow7 4 5 6 B=R| = | I’
4 KIF- KB (ShoD) 3 @ V2 | 2 | 1
6 MZ-EH ( o ) @ 2 Vel -1 3
6 M-l SV 1 @ V2 | 1| 2

DODREES —F AR
MEE-BHE ( B )m— @I 2 C——m-maw ( AT

B2 M- d A (BgVa ) —— G K- KE (S0P B



D & =& (40mBLE)

AZOwD 1 2 3 R | = | IBfiI

~—

TARRERE (g 3/3 1

2 KB-MW ( 5 ) 0/3 4
3 ET-2R (2208 1/3 3
4 w-mn o FE 2/3 2
B Ow7D B | = |IB
5 E 0.8/ (1552 3/3 1
6 FH-BA( 45 ) 0/3 4
TRABRE (P2 2/3 2
8 EH-mA (57%7") /3 3

DIESRES—F AN

= |

ARER-EE () T HISTA

E=0NS

w0 -5 N (C ) B1

=DOET0OvD I BFETOVDMIML HOHTOvIMIL  DENP(E
108318~1MA2BICHREEND EBXYZPLTr—AKXKRDBMENE



